

STUDY OF CERTAIN MOCK THETA FUNCTIONS AND SOME PARTIAL ORDER RELATIONS

Neha Choudhary and Prakriti Rai

Department of Mathematics, Amity University,
Sector-125, Noida 201313 (UP), India

E-Mail: neha.choudhary0804@yahoo.com, prai@amity.edu

Abstract: This paper consists representations of different order of mock theta functions and relations and expansions of partial mock theta functions, mock theta functions of tenth, third, fifth and sixth order. Using a simple identity, we connect the tenth order mock theta functions with partial tenth order mock theta functions of third, fifth, and sixth order. In this paper, we study relations between fifth order mock theta functions and third order mock theta functions and their partial sums. we have studied expansions of a tenth order mock theta functions in terms of partial mock theta function of tenth order also.

In this paper, we have established some new relations between mock theta functions and partial mock theta functions using tenth, third, fifth, and sixth order mock theta functions.

Keywords and Phrases: Basic Hypergeometric Series, Mock-Theta Functions, Partial Mock-Theta Functions, Identity

2010 Mathematics Subject Classification: 33D15, 11B65, 11A55.

1. Introduction

Ramanujan's definition of a mock theta function and notations The following q -notations have been used. For $|q| < 1$ and $|q^k| < 1$,

$$(a; q)_n = \prod_{j=0}^{n-1} (1 - aq^j), \quad n \geq 1$$

$$(a; q^k)_n = \prod_{j=0}^{n-1} (1 - aq^{kj}), \quad n \geq 1$$

$$(a; q)_0 = (a; q^k)_0 = 1$$

$$(a; q^k)_\infty = \prod_{j=0}^{\infty} (1 - aq^{kj})$$

$$(a)_n = (a; q)_n$$

A generalized basic hypergeometric series with base q_1 is defined as

$${}_j\phi_k(a_1, a_2, \dots, a_j; b_1, \dots, b_k; q; z)$$

$${}_j\phi_k \left[\begin{matrix} a_1, a_2, \dots, a_j \\ b_1, b_2, \dots, b_k \end{matrix} ; q, z \right] = \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_j; q)_n}{(b_1, b_2, \dots, b_k; q)_n} \left((-1)^n q^{\binom{n}{2}} \right)^{1+k-j} z^n$$

with $\binom{n}{2} = n(n-1)/2$, where $q \neq 0$ when $j > k + 1$.

In his famous "deathbed" letter, Ramanujan introduced the notion of a mock theta function.

Following Andrews and Hickerson and Zwegers we give the following version of Ramanujan's definition.

A mock theta function is a function f of the complex variable q , defined by a q -series of a particular type (Ramanujan calls this the Eulerian form), which converges for $|q| < 1$ and satisfies the following conditions:

- (1) infinitely many roots of unity are exponential singularities,
- (2) for every root of unity ξ there is a theta function $\theta_\xi(q)$ such that the difference $f(q) - \theta_\xi(q)$ is bounded as q tends to ξ radially,
- (3) f is not the sum of two functions, one of which is a theta function and the other a function which is bounded radially toward all roots of unity.

If $M(q) = \sum_{n=0}^{\infty} \Omega_n$ is a mock theta function, then the corresponding partial mock theta function is denoted by the terminating series,

$$M_r(q) = \sum_{n=0}^r \Omega_n$$

The complete list of mock theta functions of order 3 are

$$f(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(1+q)^2(1+q^2)^2 \dots (1+q^n)^2} \quad (1.1)$$

$$\Phi(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(1+q^2)(1+q^4)^2 \dots (1+q^{2n})} \quad (1.2)$$

$$\Psi(q) = \sum_{n=1}^{\infty} \frac{q^{n^2}}{(1-q)(1-q^3)^2 \dots (1+q^{2n})} \quad (1.3)$$

$$\chi(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(1-q+q^2)(1-q^2+q^4) \dots (1-q^n+q^{2n})} \quad (1.4)$$

$$\omega(q) = \sum_{n=0}^{\infty} \frac{q^{2n(n-1)}}{(1-q)^2(1-q^3)^2 \dots (1-q^{2n+1})^2} \quad (1.5)$$

$$v(q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{(1+q)(1+q^3) \dots (1-q^{2n+1})} \quad (1.6)$$

$$\rho(q) = \sum_{n=0}^{\infty} \frac{q^{2n(n+1)}}{(1+q+q^2)(1+q^3+q^5) \dots (1+q^{2n+1}+q^{4n+2})} \quad (1.7)$$

Ramanujan gave 10 mock theta functions of order five which are given by

$$f_0(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q)_n} \quad (1.8)$$

$$1 + 2\Psi_0(q) = \sum_{n=0}^{\infty} (-1; q)_n q^{\binom{n+1}{2}} \quad (1.9)$$

$$F_0(q) = \sum_{n=0}^{\infty} \frac{q^{2n^2}}{(q; q^2)_{\infty}} \quad (1.10)$$

$$\Phi_0(q) = \sum_{n=0}^{\infty} (-q; q^2)_n q^{n^2} \quad (1.11)$$

$$f_1(q) = \sum_{n=0}^{\infty} \frac{q^{n^2+n}}{(-q)_n} \quad (1.12)$$

$$F_1(q) = \sum_{n=0}^{\infty} \frac{q^{2n^2+2n}}{(q; q^2)_{n+1}} \quad (1.13)$$

$$\Phi_1(q) = \sum_{n=0}^{\infty} (-q; q^2)_n q^{(n+1)^2} \quad (1.14)$$

$$\Psi_1(q) = \sum_{n=0}^{\infty} (-q)_n q^{\binom{n+1}{2}} \quad (1.15)$$

$$\chi_0(q) = 2F_0(q) - \Phi_0(-q) \quad (1.16)$$

$$\chi_1(q) = 2F_1(q) + q^{-1}\Phi_1(-q) \quad (1.17)$$

Ramanujan gave seven mock theta functions of order six, given by

$$\Phi(q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2} (q; q^2)_n}{(-q)_{2n}} \quad (1.18)$$

$$\Psi(q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{(n+1)^2} (q; q^2)_n}{(-q)_{2n+1}} \quad (1.19)$$

$$\rho(q) = \sum_{n=0}^{\infty} q^{\binom{n+1}{2}} \frac{(-q)_n}{(q; q^2)_{n+1}} \quad (1.20)$$

$$\sigma(q) = \sum_{n=0}^{\infty} q^{\binom{n+2}{2}} \frac{(-q)_n}{(q; q^2)_{n+1}} \quad (1.21)$$

$$\lambda(q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^n (q; q^2)_n}{(-q)_n} \quad (1.22)$$

$$\mu(q) = \sum_{n=0}^{\infty} \frac{(-1)^n (q; q^2)_n}{(-q)_n} \quad (1.23)$$

$$\gamma(q) = \sum_{n=0}^{\infty} \frac{q^{n^2} (q)_n}{(q^3; q^3)_n} \quad (1.24)$$

(Andrews and Hickerson 1991).

Complete list of Tenth order mock theta functions are given by

$$\Phi_R(q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)/2}}{(q; q^2)_{n+1}} \quad (1.25)$$

$$\Psi_R(q) = \sum_{n=0}^{\infty} \frac{q^{(n+1)(n+1)/2}}{(q; q^2)_{n+1}} \quad (1.26)$$

$$X_R(q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2}}{(-q; q)_{2n}} \quad (1.27)$$

$$\chi_R(q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{(n+1)^2}}{(-q; q)_{2n+1}} \quad (1.28)$$

2. Main Identity

We give a proof of the following identity

$$\sum_{j=0}^p \alpha_j \beta_j = \beta_{p+1} \sum_{j=0}^p \alpha_j + \sum_{m=0}^p (\beta_m - \beta_{m+1}) \sum_{j=0}^m \alpha_j \quad (2.1)$$

Proof: The above identity can be proved by simply rearrangement of series

$$\begin{aligned} \sum_{m=0}^p (\beta_m - \beta_{m+1}) \sum_{j=0}^m \alpha_j &= (\beta_0 - \beta_1) \alpha_0 + (\beta_1 - \beta_2) \sum_{j=0}^1 \alpha_j + (\beta_2 - \beta_3) \sum_{j=0}^2 \alpha_j \\ &\quad + \dots + (\beta_p - \beta_{p+1}) \sum_{j=0}^p \alpha_j \\ &\Rightarrow \alpha_0 \beta_0 + \alpha_1 \beta_1 + \dots + \alpha_p \beta_p - \beta_{p+1} (\alpha_0 + \alpha_1 + \dots + \alpha_p) \\ &\Rightarrow \sum_{j=0}^p \alpha_j \beta_j - \beta_{p+1} \sum_{j=0}^p \alpha_j \end{aligned}$$

which proves (2.1). Now, we'll derive and show some partial relations using different order of mock theta functions

3. Results

3(a). Results Using Tenth Order Mock Theta Functions

(i) Taking $\alpha_j = \frac{q^{(j+1)(j+2)/2}}{(q; q^2)_{j+1}}$, $\beta_j = (q; q^2)_{j+1}$ in (2.1), we get

$$\Phi_1(q) = (q; q^2)_{p+2} \Psi_{Rp}(q) + \sum_{m=0}^p q^{2m+3} (q; q^2)_{m+1} \Psi_{Rm}(q) \quad (3.1)$$

where $\Phi_1(q) = \sum_{j=0}^p q^{(j+1)(j+2)/2}$.

(ii) Letting $p \rightarrow \infty$ in (i), we get

$$\Phi_1(q) = (q; q^2)_\infty \Psi_R(q) + \sum_{m=0}^{\infty} q^{2m+3} (q; q^2)_{m+1} \Psi_{Rm}(q) \quad (3.2)$$

(iii) Taking $\alpha_j = \frac{(-1)^j q^{j^2}}{(-q; q)_{2j+1}}$, $\beta_j = \frac{q^{2j+1}}{(1 + q^{2j+1})}$ in (2.1) we get

$$\chi_{Rp}(q) = \frac{q^{2p+3}}{(1 + q^{2p+3})} X_{Rp}(q) + \sum_{m=0}^p \left[\frac{q^{2m+1}(1 - q^2)}{(1 + q^{2m+1})} \right] X_{Rm}(q) \quad (3.3)$$

(iv) Letting $p \rightarrow \infty$ in (iii), we get

$$\chi_R(q) = \sum_{m=0}^{\infty} \left[\frac{q^{2m+1}(1 - q^2)}{(1 + q^{2m+1})} \right] X_{Rm}(q) \quad (3.4)$$

(v) Taking $\alpha_j = \frac{(-1)^j q^{(j+1)^2}}{(-q; q)_{2j+1}}$, $\beta_j = \frac{1 + q^{2j+1}}{q^{2j+1}}$ in (2.1) we get

$$X_{Rp}(q) = \frac{1 + q^{2p+3}}{q^{2p+3}} \chi_{Rp}(q) + \sum_{m=0}^p \left[\frac{(q^2 - 1)}{q^{2m+3}} \right] \chi_{Rm}(q) \quad (3.5)$$

(vi) Letting $p \rightarrow \infty$ in (v), we get

$$X_R(q) = \sum_{m=0}^{\infty} \left[\frac{(q^2 - 1)}{q^{2m+3}} \right] \chi_{Rm}(q) \quad (3.6)$$

3(b). Results Using Tenth and Sixth Order Mock Theta Functions

(i) Taking $\alpha_j = \frac{(-1)^j q^{j^2} (q; q^2)_j}{(-q; q)_{2j}}$, $\beta_j = \frac{q^{2j+1}}{(1 + q^{2j+1})(q; q^2)_j}$ in (2.1), we get

$$\begin{aligned} \chi_{Rp}(q) &= \frac{q^{2p+3}}{(1 + q^{2p+3})(q; q^2)_{p+1}} \Phi_{Lp}(q) \\ &+ \sum_{m=0}^p \frac{q^{2m+1}}{(q; q^2)_{m+1}} \left(\frac{1 - q^{2m+1} - q^{4m+4} - q^2}{(1 + q^{2m+1})(1 + q^{2m+3})} \right) \Phi_{Lm}(q) \end{aligned} \quad (3.7)$$

(ii) Letting $p \rightarrow \infty$ in (i), we get

$$\chi_R(q) = \sum_{m=0}^{\infty} \frac{q^{2m+1}}{(q; q^2)_{m+1}} \left(\frac{1 - q^{2m+1} - q^{4m+4} - q^2}{(1 + q^{2m+1})(1 + q^{2m+3})} \right) \Phi_{Lm}(q) \quad (3.8)$$

(iii) Taking $\alpha_j = \frac{(-1)^j q^{(j+1)^2} (q; q^2)_j}{(-q; q)_{2j+1}}$, $\beta_j = \frac{(1 + q^{2j+1})}{q^{2j+1} (q; q^2)_j}$ in (2.1), we get

$$\begin{aligned} \chi_{Lp}(q) &= \frac{(1 + q^{2p+3})}{(q^{2p+3})(q; q^2)_{p+1}} \Psi_{Lp}(q) \\ &+ \sum_{m=0}^p \frac{1}{q^{2m+1} (q; q^2)_{m+1}} \left[\frac{q^2 - q^{4m+4} - 1 - q^{2m+3}}{q^2} \right] \Psi_{Lm}(q) \end{aligned} \quad (3.9)$$

(iv) Letting $p \rightarrow \infty$ in (iii), we get

$$X_L(q) = \sum_{m=0}^{\infty} \frac{1}{q^{2m+1} (q; q^2)_{m+1}} \left[\frac{q^2 - q^{4m+4} - 1 - q^{2m+3}}{q^2} \right] \Psi_{Lm}(q) \quad (3.10)$$

(v) Taking $\alpha_j = \frac{q^{j(j+1)/2} (-q; q)_j}{(q; q^2)_{j+1}}$, $\beta_j = \frac{q^{j+1}}{(-q; q)_j}$ in (2.1), we get

$$\Psi_{Rp}(q) = \frac{q^{p+2}}{(-q; q)_{p+1}} \rho_{Lp}(q) + \sum_{m=0}^p \frac{q^{m+1}}{(-q; q)_{m+1}} [1 + q^{m+1} - q] \rho_{Lm}(q) \quad (3.11)$$

(vi) Letting $p \rightarrow \infty$ in (v), we get

$$\Psi_R(q) = \sum_{m=0}^{\infty} \frac{q^{m+1}}{(-q; q)_{m+1}} [1 + q^{m+1} - q] \rho_{Lm}(q) \quad (3.12)$$

(vii) Taking $\alpha_j = \frac{q^{j(j+1)(j+2)/2} (-q; q)_j}{(q; q^2)_{j+1}}$, $\beta_j = \frac{1}{(-q; q)_{j+1}}$ in (2.1), we get

$$\Phi_{Rp}(q) = \frac{1}{q^{p+2} (-q; q)_{p+1}} \sigma_{Lp}(q) + \sum_{m=0}^p \frac{1}{q^{m+1} (-q; q)_{m+1}} \left[1 + q^{m+1} - \frac{1}{q} \right] \sigma_{Lm}(q) \quad (3.13)$$

(viii) Letting $p \rightarrow \infty$ in (vii), we get

$$\Phi_R(q) = \sum_{m=0}^{\infty} \frac{1}{q^{m+1} (-q; q)_{m+1}} \left[1 + q^{m+1} - \frac{1}{q} \right] \sigma_{Lm}(q) \quad (3.14)$$

3(c). Results Using Fifth and Third Order Mock Theta Functions

(i) Taking $\alpha_j = \frac{q^{2j^2}}{(q; q^2)_j}$, $\beta_j = \frac{1}{q^{j^2}}$ in (2.1), we get

$$\Psi_P(q) = \frac{1}{q^{(p+1)^2}} \Psi_p(q) + \sum_{m=0}^p \frac{(q^{2m+1} - 1)}{q^{(m+1)^2}} \Psi_m(q) \quad (3.15)$$

(ii) Letting $p \rightarrow \infty$ in (i), we get

$$\Psi(q) = \sum_{m=0}^{\infty} \frac{(q^{2m+1} - 1)}{q^{(m+1)^2}} \Psi_m(q) \quad (3.16)$$

4. Proof of the above results**Proof of (3.1 and 3.2)**

Taking $\alpha_j = \frac{q^{(j+1)(j+2)/2}}{(q; q^2)_{j+1}}$, $\beta_j = (q; q^2)_{j+1}$ in (2.1), we get

$$\begin{aligned} \sum_{j=0}^p \frac{q^{(j+1)(j+2)/2}}{(q; q^2)_{j+1}} (q; q^2)_{j+1} &= (q; q^2)_{p+2} \sum_{j=0}^p \frac{q^{(j+1)(j+2)/2}}{(q; q^2)_{j+1}} \\ &\quad + \sum_{m=0}^p ((q; q^2)_{m+1} - (q; q^2)_{m+2}) \sum_{j=0}^m \frac{q^{(j+1)(j+2)/2}}{(q; q^2)_{j+1}} \\ \Rightarrow \sum_{j=0}^p q^{(j+1)(j+2)/2} &= (q; q^2)_{p+2} \Psi_{Rp}(q) + \sum_{m=0}^p (q; q^2)_{m+1} (1 - 1 + q^{2m+2+1}) \Psi_{Rm}(q) \\ \Rightarrow \Phi_1(q) &= (q; q^2)_{p+2} \Psi_{Rp}(q) + \sum_{m=0}^p q^{2m+3} (q; q^2)_{m+1} \Psi_{Rm}(q) \end{aligned}$$

where $\phi_1(q) = \sum_{j=0}^p q^{(j+1)(j+2)/2}$ and letting $p \rightarrow \infty$ we get

$$\Phi_1(q) = (q; q^2)_{p+2} \Psi_R(q) + \sum_{m=0}^{\infty} q^{2m+3} (q; q^2)_{m+1} \Psi_{Rm}(q).$$

Proof of (3.3 and 3.4)

Taking $\alpha_j = \frac{(-1)^j q^{j^2}}{(-q; q)_{2j+1}}$, $\beta_j = \frac{q^{2j+1}}{(1 + q^{2j+1})}$ in (2.1), we get

$$\begin{aligned}
& \sum_{j=0}^p \frac{(-1)^j q^{j^2}}{(-q; q)_{2j+1}} \frac{q^{2j+1}}{(1 + q^{2j+1})} = \frac{q^{2p+3}}{(1 + q^{2p+3})} \sum_{j=0}^p \frac{(-1)^j q^{j^2}}{(-q; q)_{2j+1}} \\
& \quad + \sum_{m=0}^p \left(\frac{q^{2m+1}}{(1 + q^{2m+1})} - \frac{q^{2m+3}}{(1 + q^{2m+3})} \right) \sum_{j=0}^m \frac{(-1)^j q^{j^2}}{(-q; q)_{2j+1}} \\
& \Rightarrow \sum_{j=0}^p \frac{(-1)^j q^{(j+1)^2}}{(-q; q)_{2j+1}} = \frac{q^{2p+3}}{(1 + q^{2p+3})} X_{Rp}(q) \\
& \quad + \sum_{m=0}^p \left[\frac{q^{2m+1} + q^{4m+4} - q^{2m+3} - q^{4m+6}}{(1 + q^{2m+1})(1 + q^{2m+3})} \right] X_{Rm}(q) \\
& \Rightarrow \chi_{Rp}(q) = \frac{q^{2p+3}}{(1 + q^{2p+3})} X_{Rp}(q) + \sum_{m=0}^p \left[\frac{(1 - q^2)(q^{2m+1} + q^{4m+4})}{(1 + q^{2m+1})(1 + q^{2m+3})} \right] X_{Rm}(q)
\end{aligned}$$

and letting $p \rightarrow \infty$ in above we get

$$\chi_R(p) = \sum_{m=0}^{\infty} \left[\frac{q^{2m+1}(1 - q^2)}{(1 + q^{2m+1})} \right] X_{Rm}(q)$$

Proof of (3.5 and 3.6)

Taking $\alpha_j = \frac{(-1)^j q^{(j+1)^2}}{(-q; q)_{2j+1}}$, $\beta_j = \frac{(1 + q^{2j+1})}{q^{2j+1}}$ in (2.1), we get

$$\begin{aligned}
& \sum_{j=0}^p \frac{(-1)^j q^{(j+1)^2}}{(-q; q)_{2j+1}} \frac{(1 + q^{2j+1})}{q^{2j+1}} = \frac{(1 + q^{2p+3})}{q^{2p+3}} \sum_{j=0}^p \frac{(-1)^j q^{(j+1)^2}}{(-q; q)_{2j+1}} \\
& \quad + \sum_{m=0}^p \left(\frac{(1 + q^{2m+1})}{q^{2m+1}} - \frac{(1 + q^{2m+3})}{q^{2m+3}} \right) \sum_{j=0}^m \frac{(-1)^j q^{(j+1)^2}}{(-q; q)_{2j+1}} \\
& \Rightarrow \sum_{j=0}^p \frac{(-1)^j q^{j^2}}{(-q; q)_{2j}} = \frac{(1 + q^{2p+3})}{q^{2p+3}} \chi_{Rp}(q) \\
& \quad + \sum_{m=0}^p \left[\frac{q^{2m+3} + q^{4m+4} - q^{2m+1} - q^{4m+4}}{q^{2m+1} q^{2m+3}} \right] \chi_{Rm}(q)
\end{aligned}$$

$$\begin{aligned}\Rightarrow X_{Rp}(q) &= \frac{(1 + q^{2p+3})}{q^{2p+3}} \chi_{Rp}(q) + \sum_{m=0}^p \left[\frac{q^{2m+3} - q^{2m+1}}{q^{2m+1} q^{2m+3}} \right] \chi_{Rm}(q) \\ \Rightarrow X_{Rp}(q) &= \frac{(1 + q^{2p+3})}{q^{2p+3}} \chi_{Rp}(q) + \sum_{m=0}^p \left[\frac{(q^2 - 1)}{q^{2m+3}} \right] \chi_{Rm}(q)\end{aligned}$$

and letting $p \rightarrow \infty$ in (xii), we get

$$X_R(q) = \sum_{m=0}^{\infty} \left[\frac{(q^2 - 1)}{q^{2m+3}} \right] X_{Rm}(q).$$

Proof of (3.7) and (3.8)

Taking $\alpha_j = \frac{(-1)^j q^{j^2}(q; q^2)_j}{(-q; q)_{2j}}$, $\beta_j = \frac{q^{2j+1}}{(1 + q^{2j+1})(q; q^2)_j}$ in (2.1), we get

$$\begin{aligned}\sum_{j=0}^p \frac{(-1)^j q^{j^2}(q; q^2)_j}{(-q; q)_{2j}} \frac{q^{2j+1}}{(1 + q^{2j+1})(q; q^2)_j} &= \frac{q^{2p+3}}{(1 + q^{2p+3})(q; q^2)_{p+1}} \sum_{j=0}^p \frac{(-1)^j q^{j^2}(q; q^2)_j}{(-q; q)_{2j}} \\ &+ \sum_{m=0}^p \left(\frac{q^{2m+1}}{(1 + q^{2m+1})(q; q^2)_m} - \frac{q^{2m+3}}{(1 + q^{2m+3})(q; q^2)_{m+1}} \right) \sum_{j=0}^m \frac{(-1)^j q^{j^2}(q; q^2)_j}{(-q; q)_{2j}} \\ \Rightarrow \sum_{j=0}^p \frac{(-1)^j q^{(j+1)^2}}{(-q; q)_{2j+1}} &= \frac{q^{2p+3}}{(1 + q^{2p+3})(q; q^2)_{p+1}} \Phi_{Lp}(q) \\ &+ \sum_{m=0}^p \frac{q^{2m+1}}{(q; q^2)_{m+1}} \left[\frac{(1 - q^{2m+1})}{(1 + q^{2m+1})} - \frac{q^2}{(1 + q^{2m+3})} \right] \Phi_{Lm}(q) \\ \Rightarrow \chi_{Rp}(q) &= \frac{q^{2p+3}}{(1 + q^{2p+3})(q; q^2)_{p+1}} \Phi_{Lp}(q) \\ &+ \sum_{m=0}^p \frac{q^{2m+1}}{(q; q^2)_{m+1}} \left[\frac{(1 - q^{2m+1})(1 + q^{2m+3}) - q^2(1 + q^{2m+1})}{(1 + q^{2m+1})(1 + q^{2m+3})} \right] \Phi_{Lm}(q) \\ \Rightarrow \chi_{Rp}(q) &= \frac{q^{2p+3}}{(1 + q^{2p+3})(q; q^2)_{p+1}} \Phi_{Lp}(q) \\ &+ \sum_{m=0}^p \frac{q^{2m+1}}{(q; q^2)_{m+1}} \left[\frac{1 - q^{2m+1} - q^{4m+4} - q^2}{(1 + q^{2m+1})(1 + q^{2m+3})} \right] \Phi_{Lm}(q)\end{aligned}$$

and letting $p \rightarrow \infty$, we get

$$\chi_R(q) = \sum_{m=0}^{\infty} \frac{q^{2m+1}}{(q; q^2)_{m+1}} \left[\frac{1 - q^{2m+1} - q^{4m+4} - q^2}{(1 + q^{2m+1})(1 + q^{2m+3})} \right] \Phi_{Lm}(q)$$

Proof of (3.9) and (3.10)

Taking $\alpha_j = \frac{(-1)^j q^{(j+1)^2} (q; q^2)_j}{(-q; q)_{2j+1}}$, $\beta_j = \frac{(1 + q^{2j+1})}{q^{2j+1} (q; q^2)_j}$ in (2.1), we get

$$\begin{aligned} \sum_{j=0}^p \frac{(-1)^j q^{(j+1)^2} (q; q^2)_j}{(-q; q)_{2j+1}} \frac{(1 + q^{2j+1})}{q^{2j+1} (q; q^2)_j} &= \frac{(1 + q^{2p+3})}{q^{2p+3} (q; q^2)_{p+1}} \sum_{j=0}^p \frac{(-1)^j q^{(j+1)^2} (q; q^2)_j}{(-q; q)_{2j+1}} \\ &+ \sum_{m=0}^p \left(\frac{(1 + q^{2m+1})}{q^{2m+1} (q; q^2)_m} - \frac{(1 + q^{2m+3})}{q^{2m+3} (q; q^2)_{m+1}} \right) \sum_{j=0}^m \frac{(-1)^j q^{(j+1)^2} (q; q^2)_j}{(-q; q)_{2j+1}} \\ &\Rightarrow \sum_{j=0}^p \frac{(-1)^j q^{j^2}}{(-q; q)_{2j}} = \frac{(1 + q^{2p+3})}{q^{2p+3} (q; q^2)_{j+1}} \Psi_{Lp}(q) \\ &+ \sum_{m=0}^p \frac{1}{q^{2m+1} (q; q^2)_{m+1}} \left[(1 + q^{2m+1})(1 - q^{2m+1}) - \frac{(1 + q^{2m+3})}{q^2} \right] \Psi_{Lm}(q) \\ &\Rightarrow X_{Lp}(q) = \frac{(1 + q^{2p+3})}{q^{2p+3} (q; q^2)_{p+1}} \Psi_{Lp}(q) \\ &+ \sum_{m=0}^p \frac{1}{q^{2m+1} (q; q^2)_{m+1}} \left[\frac{q^2 - q^{4m+4} - 1 - q^{2m+3}}{q^2} \right] \Psi_{Lm}(q) \end{aligned}$$

and letting $p \rightarrow \infty$, we get

$$X_L(q) = \sum_{m=0}^{\infty} \frac{1}{q^{2m+1} (q; q^2)_{m+1}} \left[\frac{q^2 - q^{4m+4} - 1 - q^{2m+3}}{q^2} \right] \Psi_{Lm}(q)$$

Proof of 3.11 and 3.12 Taking $\alpha_j = \frac{(-1)^j q^{j(j+1)/2} (-q; q)_j}{(q; q^2)_{j+1}}$, $\beta_j = \frac{q^{j+1}}{(-q; q)_j}$ in (2.1), we get

$$\sum_{j=0}^p \frac{q^{j(j+1)/2} (-q; q)_j}{(q; q^2)_{j+1}} \frac{q^{j+1}}{(-q; q)_j} = \frac{q^{p+2}}{(-q; q)_{p+1}} \sum_{j=0}^p \frac{q^{j(j+1)/2} (-q; q)_j}{(q; q^2)_{j+1}}$$

$$\begin{aligned}
& + \sum_{m=0}^p \left[\frac{q^{m+1}}{(-q; q)_m} - \frac{q^{m+2}}{(-q; q)_{m+1}} \right] \sum_{j=0}^m \frac{q^{j(j+1)/2} (-q; q)_j}{(q; q^2)_{j+1}} \\
\Rightarrow \sum_{j=0}^p \frac{q^{(j+1)(j+2)/2}}{(q; q^2)_{j+1}} &= \frac{q^{p+2}}{(-q; q)_{p+1}} \rho_{Lp}(q) + \sum_{m=0}^p \frac{q^{m+1}}{(-q; q)_{m+1}} [1 + q^{m+1} - q] \rho_{Lm}(q) \\
\Rightarrow \Psi_{Rp}(q) &= \frac{q^{p+2}}{(-q; q)_{p+1}} \rho_{Lp}(q) + \sum_{m=0}^p \frac{q^{m+1}}{(-q; q)_{m+1}} [1 + q^{m+1} - q] \rho_{Lm}(q)
\end{aligned}$$

and letting $p \rightarrow \infty$, we get

$$\Psi_R(q) = \sum_{m=0}^{\infty} \frac{q^{m+1}}{(-q; q)_{m+1}} [1 + q^{m+1} - q] \rho_{Lm}(q)$$

Proof of 3.13 and 3.14 Taking $\alpha_j = \frac{q^{(j+1)(j+2)/2} (-q; q)_j}{(q; q^2)_{j+1}}$, $\beta_j = \frac{1}{q^{j+1} (-q; q)_j}$ in (2.1), we get

$$\begin{aligned}
& \sum_{j=0}^p \frac{q^{(j+1)(j+2)/2} (-q; q)_j}{(q; q^2)_{j+1}} \frac{1}{q^{j+1} (-q; q)_j} = \frac{1}{q^{p+2} (-q; q)_{p+1}} \sum_{j=0}^p \frac{q^{(j+1)(j+2)/2} (-q; q)_j}{(q; q^2)_{j+1}} \\
& + \sum_{m=0}^p \left[\frac{1}{q^{m+1} (-q; q)_m} - \frac{1}{q^{m+2} (-q; q)_{m+1}} \right] \sum_{j=0}^m \frac{q^{(j+1)(j+2)/2} (-q; q)_j}{(q; q^2)_{j+1}} \\
\Rightarrow \sum_{j=0}^p \frac{q^{j(j+1)/2}}{(q; q^2)_{j+1}} &= \frac{1}{q^{p+2} (-q; q)_{p+1}} \sigma_{Lp}(q) + \sum_{m=0}^p \frac{1}{q^{m+1} (-q; q)_m} \left[1 + q^{m+1} - \frac{1}{q} \right] \sigma_{Lm}(q) \\
\Rightarrow \Phi_{Rp}(q) &= \frac{1}{q^{p+2} (-q; q)_{p+1}} \sigma_{Lp}(q) + \sum_{m=0}^p \frac{1}{q^{m+1} (-q; q)_m} \left[\frac{q + q^{m+2} - 1}{q} \right] \sigma_{Lm}(q)
\end{aligned}$$

and letting $p \rightarrow \infty$, we get

$$\Phi_R(q) = \sum_{m=0}^{\infty} \frac{1}{q^{m+1} (-q; q)_m} \left[\frac{q + q^{m+2} - 1}{q} \right] \sigma_{Lm}(q)$$

Proof of (3.15) and (3.16)

Taking $\alpha_j = \frac{q^{2j^2}}{(q; q^2)_j}$, $\beta_j = \frac{1}{q^{j^2}}$ in (2.1), we get

$$\sum_{j=0}^p \frac{q^{2j^2}}{(q; q^2)_j} \frac{1}{q^{j^2}} = \frac{1}{q^{(p+1)^2}} \sum_{j=0}^p \frac{q^{2j^2}}{(q; q^2)_j} + \sum_{m=0}^p \left[\frac{1}{q^{m^2}} - \frac{1}{q^{(m+1)^2}} \right] \sum_{j=0}^m \frac{q^{2j^2}}{(q; q^2)_j}$$

$$\begin{aligned} \Rightarrow \sum_{j=0}^p \frac{q^{j^2}}{(q; q^2)_j} &= \frac{1}{q^{(p+1)^2}} \Psi_p(q) + \sum_{m=0}^p \left(\frac{q^{(m+1)^2} - q^{m^2}}{q^{m^2} q^{(m+1)^2}} \right) \Psi_m(q) \\ \Rightarrow \Psi_p(q) &= \frac{1}{q^{(p+1)^2}} \Psi_p(q) + \sum_{m=0}^p \frac{q^{(2m+1)} - 1}{q^{(m+1)^2}} \Psi_m(q) \end{aligned}$$

Letting $p \rightarrow \infty$, we get

$$\Psi(q) = \sum_{m=0}^{\infty} \frac{(q^{2m+1} - 1)}{q^{(m+1)^2}} \Psi_m(q)$$

References

- [1] G.E. Andrews and D. Hickerson, Ramanujan's LOST Note book II : The sixth order mock theta functions, Adv. Math. 89 (1991), 60-105.
- [2] R.P. Agarwal, Ramanujan's Mock Theta functions their Enegmatic Aspects Proceeding of the International conference on the works of Srinivas Ramanujan (2000), 21-34.
- [3] R.P. Agarwal, An attempt towards presenting an unified theory for mock theta functions, Proc.Int. Conf. SSFA1 (2001), 11-19.
- [4] R.P. Agarwal, Resonance of Ramanujan's Mathematics II, New Age International Pvt. Ltd. Publishers, New Delhi, 1996.
- [5] Y.S. Choi, Tenth order mock theta functions in Ramanujan Lost Note Book, Invent Math, 136 (1999), 497-596.
- [6] R.Y. Denis and S.N. Singh, Certain representation of mock theta functions of order six and ten, Vikram Mathematical Journal 18 (1998), 1-15.
- [7] Remy Denis, S.N. Singh and S.P. Singh, On certain new representation of mock theta functions, Italian J. Pure Appl. Math. 22 (2007), 149-154.
- [8] R.Y. Denis, S.N. Singh and D. Sulata, Certain Representation of mock theta functions, Proc. International conference on Number Theory and Discrete Math. Chandigarh (India).
- [9] N.J. Fine, Basic Hypergeometric series and Applications, Mathematical Surveys and Monographs, Amer. Math. Soc. 27 (1998).

- [10] Kazuhiro Hikami, Mock (false) theta functions as quantum invariants, *Regular and Chaotic Dynamics*, 10 (2005), 509-530.
- [11] A.K. Srivastava, On partial sum of mock theta functions of order three, *Proc. Indian. Acad. Sci*; 107 (1997), 1-12.
- [12] Pankaj Srivastava, Double series representation of mock theta functions, *South East Asian Journal of Mathematics and Mathematical Sciences*, Volume 1, No. 3, August 2003.
- [13] G. E. Andrews and D. Hickerson, Ramanujan's "lost" notebook: the sixth order mock theta functions, *Adv. Math.* 89 (1991), 60-105.
- [14] G. N. Watson, The Final problem: An account of the mock theta functions, *J. London Math. Soc.* 2 (2) (1936), 55-80.
- [15] G. E. Andrews, Ramanujan's fifth order mock theta functions as constant terms, *Ramanujan Revisited* (G. E. Andrews, R. A. Askey, B. C. Berndt, K. G. Ramanathan and R. A. Rankin) Academic Press, Boston, 1988, 4756.
- [16] G. E. Andrews and F. G. Garvan, Ramanujan's Lost Notebook VI: The mock theta Conjectures, *Adv. in Math.* 73(1989), 242-255.
- [17] G. E. Andrews and D. Hickerson, Ramanujan's "Lost" Notebook VII: The sixth order mock theta functions, *Adv. in Math.* 89(1991), 601-105.
- [18] Youn-Seo Choi, Tenth order mock theta functions in Ramanujan's "Lost" Notebook, *Invent. Math.* 136(1999), 497-569.
- [19] S. Ramanujan, "Collected Papers", Cambridge University Press, London/New York, 1927 (reprinted by Chelsea, New York).
- [20] G. N. Watson, The final problem: An account of the mock theta functions, *J. London Math. Soc.* 11(1936), 55-80.
- [21] G. N. Watson, The Mock theta functions (2), *Proc. London Math. Soc.* 42(1937), 274-304.